=
<

(0 @) (rad)
o(d cot(v))

Ratio

-1 2 3
10 1 TPlpoT (PCA 16 beamiinéf

—=— DQMstep3 TT_CKF
—e— DQMstep3_TT_default
—+— DQMstep3 _TT_ckfPixelLess

= =
= 1]
5 5]
2 =
= =
< -
> o
=2 =2
3 ©

8 FIT114 o
I 1T I
@ L 1141 [+ o
0.8f----------1 Haha B EELECRTLEILERLEE
XS | 1Y 1131 1 S — S | 11 2R 1 S—
-1 2 3 -1 2 3
10 1 TPlp?T (PCA tjbobeamliné'f) 10 1 TPlp?T (PCA tjbobeamliné'f)
~ 1=
o :
"
o
o
5

2 :
e BV e - L S
g 12 it ¥
o E + T
& R I 1 S I IR o
0.8 ---vmnenn- HL 010 P 4 I I s
L TIE : :




	Contents
	Page 1


